
Tile Math - Digit Squares – Laminate, and then cut on dotted lines. 

0 0 0 0 0 0 0 0 

1 1 1 1 1 1 1 1 

2 2 2 2 2 2 2 2 

3 3 3 3 3 3 3 3 

4 4 4 4 4 4 4 4 

5 5 5 5 5 5 5 5 

6 6 6 6 6 6 6 6 

7 7 7 7 7 7 7 7 

8 8 8 8 8 8 8 8 

9 9 9 9 9 9 9 9 
  



Card # 0+    KEY        Tile Math 

 0   7   3 

+ 9  + 3  + 1 

 9  1 0   4 

        

 8   3   4 

+ 5  + 2  + 2 

1 3   5   6 

        

9 + 9 = 7 + 1 1 

        

1 5 + 1 6 = 3 1 
 



Card # 1+     Key     Tile Math 

 3   6   7 

+ 5  + 4  + 1 

 8  1 0   8 

        

 2   3   2 

+ 7  + 6  + 5 

 9   9   7 

        

5 + 4 = 9 + 0  

        

3 + 9 = 1 2   
 



Card # 2+    KEY.         Tile Math 

 4   6   1 

+ 5  + 8  + 1 

 9  1 4   2 

        

 6   9   2 

+ 7  + 1  + 3 

1 3  1 0   5 

        

9 + 5 = 7 + 7  

        

3 0 + 2 = 3 2  
 



Card # 3+    KEY         Tile Math 

 8   6   4 

+ 1  + 2  + 2 

 9   8   6 

        

 7   3   7 

+ 7  + 5  + 2 

1 4   8   9 

        

4 + 8 = 9 + 3  

        

0 8 + 2 = 1 0  
 



Card # 4+    KEY     Tile Math 

 2   2   4 

+ 5  + 6  + 3 

 7   8   7 

        

 5   3   1 

+ 7  + 9  + 0 

1 2  1 2   1 

        

1 0 + 2 = 3 + 9 

        

4 0 + 4 0 = 8 0 
 

  



Card # 5+    KEY     Tile Math 

 6   2   2 

+ 3  + 7  + 3 

 9   9   5 

        

 9   3   0 

+ 3  + 4  + 0 

1 2   7   0 

        

1 2 + 0 = 3 + 9 

        

1 8 + 1 0 = 1 8 
 

  



Card # 6+    KEY     Tile Math 

 7   2   6 

+ 3  + 5  + 3 

1 0   7   9 

        

 1   3   1 

+ 3  + 0  + 2 

 4   3   3 

        

1 2 + 3 = 6 + 9 

        

1 4 + 1 4 = 2 8 
 

  



Card # 7+    KEY     Tile Math 

 

 
5   2   6 

+ 3  + 9  + 4 

 8  1 1  1 0 

        

2 0 0  3   2 

+ 3  + 3  + 2 

2 3   6   4 

        

8 + 4 = 1 0 + 2 

        

1 6 + 1 1 = 2 7 
 

  



Card # 8+    KEY      Tile Math 

 9  2 0   6 

+ 3  + 1  + 4 

1 2  2 1  1 0 

        

 3   3   6 

+ 2  + 4  + 2 

 5   7   8 

        

2 + 8 = 4 + 6  

        

1 5 + 1 2 = 2 7 
 

  



Card # 9+    KEY      Tile Math 

 1  2 0   9 

+ 9  + 1 0 0 + 4 

1 0  3 0  1 3 

        

 4   3   0 

+ 2  + 8  + 2 

 6  1 1   2 

        

6 + 8 = 7 + 7  

        

1 5 + 1 4 = 2 9 
 


